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b.z Exponent Laws
Warm Up: In the expression 3%, 3 represents the and 4 represents the
1. Write each expression as a single power. Then, evaluate.
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2. Write each expression as a product of two powers, then as a single power.
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. Write each expression as a single power. Then, evaluate.
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5. Arrange the powersin order from smallest value to largest value.
(4P (2P, =40 (1Y L
b) 3 L
OO CID ! (-
— (1)
- 6 oy 8 | lb
5. Write each expression as h quotient A two powers, then as a single power. Cy a\u.m“'(
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5. Write each ?Xp—l-e":fi:ll ash q-uétienlaf t:u pmlew‘ l\hlen as a single power. Eua\u.oAT
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7. Write each expression as a single power with a coefficient, then evaluate

Single Power with Coefficient Evaluate
q
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6. Complete the table.

Expression Repeated Multiplication Power.s
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Multiple Choice Questions
7. Inthe equation (—2)° = —32, which number represents the base of the power?

A-32 =Y c-1 D2

8. Which expression is equivalent to (-2) » (-2) = (-2) = (-2) » (-2)?
A2 B32 @ D—(-2)°

Bxponents Page 2



